Transfers Report

This report contains the transfers results.

Contest Name	Airyhall-Broomhill-Garthdee Ward
Valid Votes	5,872
Positions to be Filled	3
Quota	1,469

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Derek DAVIDSON	Scottish National Party (SNP)	1,615
Ryan HOUGHTON	Scottish Conservative and Unionist	1,240
Logan Andrew MACHELL	Aberdeen Labour	627
Harry RAFFERTY	Scottish Green Party	244
Ian YUILL	Scottish Liberal Democrats	2,146
	Total	5,872

Candidate Derek DAVIDSON Elected with 1,615 votes, being in excess of the quota of 1,469 Candidate Ian YUILL Elected with 2,146 votes, being in excess of the quota of 1,469

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Ian YUILL

Stage 2 - Surplus of Ian YUILL			677.00000
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan HOUGHTON	682	0.31547	215.15054
Transfer to Logan Andrew MACHELL	555	0.31547	175.08585
Transfer to Harry RAFFERTY	322	0.31547	101.58134
No further preference	587	0.31547	185.18089
Not transferred due to rounding			0.00138
	Total		677.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Derek DAVIDSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan HOUGHTON	78	0.09040	7.05120
Transfer to Logan Andrew MACHELL	368	0.09040	33.26720
Transfer to Harry RAFFERTY	785	0.09040	70.96400
No further preference	384	0.09040	34.71360
Not transferred due to rounding			0.00400
	Total		146.00000

146.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Harry RAFFERTY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan HOUGHTON	11	1.00000	11.00000
Transfer to Logan Andrew MACHELL	128	1.00000	128.00000
Transfer to Ryan HOUGHTON	26	0.31547	8.20222
Transfer to Logan Andrew MACHELL	138	0.31547	43.53486
Transfer to Ryan HOUGHTON	30	0.09040	2.71200
Transfer to Logan Andrew MACHELL	332	0.09040	30.01280
No further preference	105	1.00000	105.00000
No further preference	158	0.31547	49.84426
No further preference	423	0.09040	38.23920
Not transferred due to rounding			0.00000
	Total		416.54534

416.54534